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SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
Al 750
09 HALAHIE& S 1,500 1,440 60
OAILIGZAIE &St 1,500
= 750
Al 750
HE2AIH (= MET L) 141,440 120,732 20,708
= 53,104
Al 88,336
Jl=3l 35,232 35,232 0
JlE2&l 35,232 35,232 0
201 et2 Y| 29,112 29,112 0
01 At 22l 24,912 24,912 0
ORNE2Y Jl=dHl 250,000& = 123 3,000
OMREE FL(SAX S) 200,0008 * 128 2,400
OHFARII 228 +
300,000& = 8CH = 23] 4,800
Ood=z=3d=J| dxaz 50,000& = 12& 600
O= &l 7,0008 * 24 « 7 « 123 14,112
02 =224l 4,200 4,200 0
OELT= 350,000& = 12& 4,200
202 (44l 1,920 1,920 0
01 S LHOIYI 1,920 1,920 0
OHl&azZ8 2ol 1,920
203 YR =&l 4,200 4,200 0
04 RENSELRZ=LH| 4,200 4,200 0
ORNM2IYRFLH 350,000& = 12& 4,200
el 2l 106,208 85,500 20,708
= 53,104
Al 53,104
Ol 2HHI(2IMOrY FXI) 106,208 85,500 20,708
= 53,104
Al 53,104
101 1244 dl 106,208 85,500 20,708
= 53,104
Al 53,104
03 RIAHAZZ2THE = 106,208 85,500 20,708
OSE A ZCIAH4E) 106,208
= 53,104
Al 53,104
HRasS(=oMaXaa) 736,458 679,413 57,045
HEHHX S 736,458 679,413 57,045
LHEHeH X = 736,458 679,413 57,045
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701 JIEtSI HSEES 736,458 679,413 57,045
= 736,458 679,413 57,045

01 JIEt2l HE =

OAS LS SEHN dES 736,458




